	Ja imam 9. 
Tko ima (9a)2 ?
	Ja imam 81a2. 
Tko ima 81a2 – 16 ?
	Ja imam (9a – 4)(9a + 4). 
Tko ima (9a + 4)2 ?

	Ja imam 81a2 +72a + 16 . 
Tko ima 
27a3 – 108 a2 + 144a – 64 ?
	Ja imam (3a – 4)3 . 
Tko ima (3a – 4)(3a + 4) ?
	Ja imam 9a2 – 16 . 
Tko ima (4a + 3)3?

	Ja imam 
64a3 + 144 a2 +108 a +27. 
Tko ima 16a2 – 9b2 ?
	Ja imam (4a – 3b)(4a + 3b) . 
Tko ima (2a – 3b)2 ?
	Ja imam 4a2 – 12ab + 9b2. 
Tko ima 
(2a - 3b)(4a2 +6ab+ b2) ?

	Ja imam 8a3 – 27b3. 
Tko ima (2a – 3b)(3a + 2b)?
	Ja imam 6a2 – 5ab – 6b2 . 
Tko ima (6a – 5b)2?
	Ja imam 36a2 – 60ab + 25b2. Tko ima 25a2 – 36b2 ?

	Ja imam (5a – 6b)(5a + 6b). Tko ima –(–6ab)2?
	Ja imam –36a2b2. 
Tko ima 1 +64a3?
	Ja imam (1 + 4a)(16a2–4a+1)? Tko ima (1 + 6ab)2 ?

	Ja imam 1 + 12ab + 36a2b2. Tko ima 36a2 –  b2 ?
	Ja imam (6a – b)(6a + b). 
Tko ima (–5ab)2 ?
	Ja imam 25a2b2. 
Tko ima 0.25 – 25a2?

	Ja imam (0.5 – 5a)(0.5 + 5a). Tko ima (0.5 + a)2 ?
	Ja imam 0.25 + a + a2. 
Tko ima a(a – 2) + 1?
	Ja imam a2 – 2a + 1. 
Tko ima  a2 + 2a + 1?

	Ja imam (a + 1)2. 
Tko ima (2a – 1)2?
	Ja imam 4a2 – 4a + 1.
 Tko ima (4ab – 1)(4ab + 1)?
	Ja imam 16a2b2 – 1. 
Tko ima 2(–1.5ab)2 ?

	Ja imam 4.5a2b2. 
Tko ima (4a + 0.5b)2 ?
	Ja imam 16a2 + 4ab + 0.25b2. Tko ima (ab – 0.25)2?
	Ja imam  a2b2 – 0.5ab + 0.0625

Tko ima (a – 2.5b)(a + 2.5b) ?

	Ja imam a2 – 6.25b2. 
Tko ima (–6 + 2.5ab)2 ?
	Ja imam 36 – 30ab + 6.25a2b2. Tko ima –3a(ab – 5) ?
	Ja imam –3a2b + 15a. 
Tko ima (b + 0.15)2 ?

	Ja imam b2 + 0.3b + 0.0225. Tko ima (0.3b – 2)2 ?
	Ja imam 0.09b2 – 1.2b + 4. 
Tko ima (3a – 0.5b) ∙ (-2)?
	Ja imam b – 6a. 
Tko ima (-6 ∙ (-0.5))2 ?


MATEMATIČKI LANAC-potenciranje binoma
